Good day, Rigger:

Thank you for checking out this little freebie.

Please pardon my crude drawings and chicken scratch, but the lesson
nevertheless has merit. I hope you enjoy it. (The for-sale stuff is much
better quality).

If you aren't familiar with geometry, algebra, binomials, and the like,
please do not fret. I show you the algebra needed to solve a simple puzzle
merely to show you how complex "the other guys' " methods are.

I intend to only show you that the accepted math used throughout the
world means that you have to go a long way to get a simple answer -
whereas my methods are far, far simpler, and can give you an answer much
more quickly, and often you can cipher it in your head without the use of a
computer or calculator.

So take a glance at the next few pages and ponder.

If you find that this freebie piques your interest, then you might really enjoy
Bridle Dynamics, or the Primer.

If you're already familiar with basic geometry and algebra, then skip the
Primer. But if you feel you need a little background on the basic math
involved, then you should buy the Primer and get familiar with the basics.

Afterward, Bridle Dynamics will make much more sense to you.

Where else are you going to learn new math theories, superior to all the
commonly accepted ones, for a mere pittance? (They don't teach this stuff
in high schools or colleges because they are unaware of them).

All the best, and Happy Rigging!
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